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10.

11.

f(x) = (9x*+1)(2x—3)+6
#kR=l Bl mal R
18.5<2X—2<24X—4>74<X<96

y=2x—3 y &3 A
MBI = y=2x—3ZF
y=2x—3 -3
3x2X2=12
X y

—— =1 =x+ty—+2 =0
V22 Y
=T p

NIEREE V2.

x—(—2)=3 =x=lor —5 }:>X=1
x—3|=2 =x=5orl

a=sin137 =sin(180°—43")= +sin 43"

A > RiE by 2 0 MGE#E0,2) = y=2cosx

2, =Sy—Sn-1 = a9=So—Sz=(9*+9—4)—(8*+8—4)=18
JEIKCA 200X 50=10000 - {E5 5400 = ARy 15400
HEat =BAalE = (50+a)(200—a)=15400

X 50+a=x =a=x—50 =200—a=200—(x—50)=250—x
= x(250—x)= 15400

BEAN  FERHEAD

2 1 —C xCP=60

1 2 —C)XCy=75 b4t 60+754+20=155

0 3 —>C§=20
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13.

14.

15.

16.

fy=a(x—1°+2 a<0 HWHFIEE ,2)
BACIE T

A
1,2)

-

KERA1,0) > (3,2) G, HEARATHE

L:y—3=m(x—2)i&2,3)
2, )RABEC =0+(—5">5 = B{EESL @
L:mx—y+(3—2m)=0 -
C:[E2,8) r=+5
de=r — [2m—8+3—2m | _ 5

Jm2H(—1)?
=5=15m’*+5 =25=5m’+5 —=m’=4
=>m=*2 =m=2
fx)—gx)=2(x—1) =f—D—g(—D=—4-(1)
fx)+gx)=2x(x—1) =f(—1)+g(—1)=4----+(2)
(1)4;(2) f(—1)=0 - (2);(1) L g(—1)=4

2,3)

3f(—1)+2g(—1)=3X0+2x4=38
% f(x)=x>+9x*+26x +24

f(x)+(x—1)--f(l)=a =14+9+26+24=a =a=60
f(x)+(x+1)f(—1)=b =—1+9-26+24=b =b=6
a—b=60—6=>54

((FR))

f(x)=a*» Fa>1 = (A

©,n

1 1
fx)y=a*=(—) > #0<a<l = —>1 = (B)l
a

a

f(x):a"‘zix »#Fa>00 Hla* >0 = (C)ff
a

HIRRKEETE x & —x > HIEHE y @it = (D)%
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18.

19.

20.
21.

22.

23.

24.

25.

_ log49 % log25 % log4 % log3

=

log9 log8 log7 log5

_ 2log7 % 2log5 % 2log2 % log3

- 2log3 3log2 log7 log5
A={4,5,6} B={1,2,4,5} C={2,4,6}

4
3

ANBNC= {4}

. X 4
X 5% :T%izﬁlo =15 2x 73

1 2 3 4
HIS = — X2+ —— X4+ — X6+ — X 8=
A= 10 10 10 10

simE(/ N =2

2+8+18+32

6
10

= =74 33.8~23.9 i/

ANE LA - S ABEEBISHh—R0r = Reor ik

e 244
[ERY =1 ,

—2+6

2

> =2

AR 1= 4/(4—1)2+(6—2)2 =5
=5 —a=1>b=2>c=5

=x—1)7>+(y—2)7

atb+c=8

A PR EAR M YR

P I EH L B

V3442

V3P +42

a<r=b =2<r=5 =—a+b=2+5=7
{K&%ﬁ/&% d=3> 35231+4d:27
= a+4XxX3=27 =a;=15

SR S, = -

2a;+(n—1)d]n

[3x2+4x1-35] _

2+4x1-20| _,

b

_ [30+(n—1)x3]Xn

(*2 ’ 2)@(4 ’ 6)

=330

2

2

(2743n)Xn=660 = (n-+9n=220 =n’+9n—220=0

(n+20)(n—11)=0

H——=PfN
B B

(WA =FHE

()75 = Bk
= 16+8=24

n=11(#F)

H = K™K
=2X2X2%X2=16

H — = /g N
=S2XIX2X1X2=38





